[4e4 14

Z8'6ST | 60°6TI 0ZvE SE€'6€ | 90'SL6 888 II'82T | oz'sor | #e'Lz LE'TE | €L°98L 0€L OI0LY]
\
LT9 £€°T1 60°0 0£°0 £16Y 002 229 . | g€ 60°0 0£°0 c1'6t 00T xraHaxodonawau0 YOIk €M Lonwo) [S61aN MLL| ©
79 SPLT 0 SLE $STTl 6 96'C 0veT 9€°0 LOE 00°001 o HIMHRHHOIIL QaIrY IL1 S
08°€ zr6l LY TI'e £9°98 6€ 762 0LbT 9€°0 0rT 0999 0 yEHRHRSMII-onexd gorry |  T1I 4
96111 0S°6¥ 15°8C 6°LT 00°19¢ 0sT L9'T6 09°6€ 08°2¢ £€°TT 08°8F¥ 00T IHHIEI0L <H SOLT]| ¢/ aNyIL | €
P¥'61 6L°81 65 9¢'e SL'EPI (154 9p'sT £0°C1 L9°E €8T 00°ST1 00Z HKEANRIN o yranarodordes uAn| 4801 4
€Ll 06°1 010 0L°0 001 001 €88 Pl 90°0 o 0zT'L 09 ama8d MUdAIO(  eutS 1
B W B W =z
| « =3 ¥ Q| « =21 ¥ -
g 2 X g §E| @ g g 2 53 2
= = 2 { = 2 E 3 Z q 4 ¥ £ o
= m 2 - E g2 = m 5 R g - m Ea m 011'Q AHHBHOHIWH B ] g =
’ = b { = =
3| % £l % IFRdl B 5§ | E "53| & 3 |3
F Z = - v £ =l =4 o
SR - o & = -
amdeLd | 1A 71 LK [T =L 17200
0Z°TL 65101 90°p€ 0997 £T°66L 0£9 F+09 18°08 68T [{x44 £8°0S9 0€S 0JOLY]
£9'S £0°S1 81°0 7L £0°09 081 EV'S €0°S1 81°0 L0 £0°09 081 WONHHEOUHIN 5 Heh [ 0SSNMLL [ 9
96°C or'TT 9£%0 L0’€ 00°001 ot [ea OLF1 9£°0 or'e 0999 0¢€ yrnhunomn garry [ ILI S
6T 0L¥1 9£°0 or'z 0999 0t €61 08°6 ¥Z'0 09°L o'y 0z HiHRHHom-onexd gary| LT 4
056 €L1E w's 799 09102 081 ¥6'L St°oT 49y FANY 00°891 01 WoIroeW o draHdea1o MHOdeNRN|  wuL0T €
15°8¢ 96°¢1 01z 0LZ1 00°86C 001 9l'se L8T1 LS61 £F° 11 00°892 06 ormkQf 1oy | LONMLL | 7
] . . . . vLL ¢ p . . (randiIo ‘doYumon
88°Z1 LLE $0°9 60°1 00°€L 001 9T 9°€ §9°0 08°cy 09 erofuey) pomomo xmdmo sm  seren| ++CC 1
o | « T o | « i 3
s | ¥ | 7 |z5%| 2 s | ¥ 7 |z5%| 2 -
g E m = m m Z - m, 2z g = ¢ 2 A g T01Irg IHHEHOHIWHE]] z &
5 3 g 3 g = 2 & 3 g = 3 m E 2 g g g
2 2 £ & | = el = E = 28 E 3 =
7 £ FE| % 8 = 72 = 3

A2 - L
17076081 1d9LIF, “BINIOY |
FOIrQ XITWIRaHIrdRLO.IM AL OIHITA]

Medigeg




